1000/0 2do)/d(m_1 + m_2) [1/GeV]
H

i T
S < 9 9
A w N AN

107>

1077

1078

Ratio to CMS
[N

0.5

000 GeV pp Jets
= L — T " T T T —T " T 1 T L L B L =
;F | | | 5%
C Filtered dijet mass (anti-k_(0.7), 2300<p_<450, y|<2.5) 3
= 3=
— — <
= =
= als)
= —
= =
— o
E- =0
= ==
— Jx
- =le)

N ™
= ) — <
= = =HM
— A 0
— = CMS S|
— --0-- Pythia 6.428 345 | = 5
= 0 Pythia 6.428 346 n =5
—  —A— Pythia 6.428 370 - W 3c
= Pythia 6.428 default . Hc
~  —a— Pythia 8.308 default i =3
= . — v
= | =)
— | —1 o
=— : = 2
=| | | | | | | | | | | | | | | | | Ly = =
:l T T T T | T T T T | T T T T | T || T T I:
— 42
= o =
- /o ]

1
—0.5

~150
(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


